Geometry 7.3 A Sé‘q

Identify similar triangles using th SAS, and SSS
Use similar triangles to solve problems

Third angle theorem
SSS

SAS (included angle)
AA

proportion



Works only for triangles

Postulate 7.1 Angle-Angle (AA) Similarity

If two angles of one triangle are congruent to two A B
angles of another triangle, then the triangles are similar.

F
Example If ZA= ZFand £ZB = ZG. then
AABC ~ AFGH.

74

Remember: angle sum must be 180



Determine whether the triangles are similar. If so, write a similarity statement.
Explain your reasoning.
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Theorems Points on Perpendicular Bisectors

7.2 Side-Side-Side (SSS) Similarity All sets of sides must be proportional
If the corresponding side lengths of two (SSS)
tnangles are_pref 16
trianglesA

D angle
7.3 Side-Angle-Side (SAS) Similarity ( S AS) S

If the lengths of two sides of one triangle A y

are proportional to the lengths of two

corresponding sides of another triangle R T

and the included angles are congruent,

then the triangles are similar. Z

Example If 2 “s = 2Tand £8= ¥, then X
ARST AXYZ.




Determine whether the triangles are similar. If so, write a similarity
statement. Explain your reasoning.
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We have angles J and F congruent.
What else do we need?

3. If AJKL and AFGH are two triangles such that 2] = ZF, which of the

foNqwing would o prove that the triangles are similar?
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Theorem 7.4 Properties of Similarity

Reflexive Property of Similarity AABC ~ MABC
Symmetric Property of Similarity  If AABC ~ ADEF, then A DEF ~ AABC.

Transitive Property of Similarity  If AABC ~ ADEF, and ADEF ~ AXYZ,
then AABC ~ AXYZ
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Example 4

Find BE and AD. Proportion...
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» GuidedPractice

Find each measure. & o~ S o
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Draw 2 separate triangles if overlap



